

TO VALIDATE, GO TO Certificate Number: GI-COO-45305-661e763bdf84c **VERIFY.FTGS.US** Date: April 16, 2024

N/A

Port of Loading Transport Type Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China Xingang Tianjin CA USA **Export Date Exporting Carrier** N/A 2024-03-28 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 401410039432 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1560 bales Total: 634.832 MT

N/A



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Ifalfa Hay	22.135 mt	United States
Marks: TRHU5230371 52bales		
Ifalfa Hay	21.074 mt	United States
Marks: EMCU9940620 52bales		
Ifalfa Hay	20.112 mt	United States
Marks: TEMU6100569 52bales		
Ifalfa Hay	20.747 mt	United States
Marks: EMCU8341171 52bales		
Ifalfa Hay	20.584 mt	United States
Marks: EITU9351709 52bales		
Ifalfa Hay	21.246 mt	United States
Marks: TGHU6970663 52bales		XXXXXX
Ifalfa Hay	20.502 mt	United States
farks: BMOU6012253 52bales		
	20.502 mt	United States



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: GI-COO-45305-661e763bdf84c

VERIFY.FTGS.US Date: April 16, 2024 Transport Type Port of Loading Vessel Los Angeles **Destination Country Destination Port**

43 Corporate Park Irvine China Xingang Tianjin CA USA **Export Date Exporting Carrier** N/A 2024-03-28 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 401410039432 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Seller (Exporter)

Healthy Green Life Corporation

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1560 bales Total: 634.832 MT



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
lfalfa Hay	20.775 mt	United States
farks: EMCU8711065 52bales		
Ifalfa Hay	21.065 mt	United States
arks: BSIU9404680 52bales		
Ifalfa Hay	21.691 mt	United States
larks: EMCU8411345 52bales		
Ifalfa Hay	21.918 mt	United States
larks: EISU9457683 52bales		
lfalfa Hay	20.974 mt	United States
1arks: TEMU6173436 52bales		
lfalfa Hay	20.884 mt	United States
larks: EISU9338895 52bales		DAYATA
lfalfa Hay	21.392 mt	United States
farks: CAAU5065554 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: GI-COO-45305-661e763bdf84c **VERIFY.FTGS.US** Date: April 16, 2024

N/A

Transport Type Port of Loading Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China Xingang Tianjin CA USA **Export Date Exporting Carrier** N/A 2024-03-28 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 401410039432 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1560 bales Total: 634.832 MT

N/A



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
lfalfa Hay	21.627 mt	United States
farks: EITU9060920 52bales		X R X X X X X X X X X X X X X X X X X X
Ifalfa Hay	21.092 mt	United States
larks: TXGU5693462 52bales		
Ifalfa Hay	21.582 mt	United States
larks: MAGU5399140 52bales		
lfalfa Hay	20.593 mt	United States
farks: EITU1544471 52bales		
lfalfa Hay	21.237 mt	United States
flarks: EMCU9909287 52bales		
lfalfa Hay	20.802 mt	United States
larks: EMCU9942710 52bales		
lfalfa Hay	21.818 mt	United States
farks: BEAU5011134 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein



TO VALIDATE, GO TO Certificate Number: GI-COO-45305-661e763bdf84c **VERIFY.FTGS.US** Date: April 16, 2024

Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Type Vessel	Port of Loading Los Angeles
Irvine CA USA	Destination Country China	Destination Port Xingang Tianjin
Consignee Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China	Export Date 2024-03-28	Exporting Carrier N/A
	Import Permit Number N/A	Bill of Lading / AWB 401410039432
	Owner or Agent N/A	Forwarding Agent N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1560 bales Total: 634.832 MT



Description May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Ifalfa Hay	20.929 mt	United States
flarks: TXGU5827854 52bales		
Ifalfa Hay	21.609 mt	United States
Marks: TRHU8729744 52bales		
Ifalfa Hay	21.074 mt	United States
Marks: GAOU6411669 52bales		
Ifalfa Hay	21.156 mt	United States
Marks: EITU1447419 52bales		
Ifalfa Hay	21.119 mt	United States
Marks: TGBU9972797 52bales		
lfalfa Hay	21.564 mt	United States
Marks: TRHU7965262 52bales		ZXXXXX
lfalfa Hay	21.183 mt	United States
Marks: TCNU6781122 52bales		



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in
- respect of any costs and/or claims made against GIC in connection herewith. -The Applicant is authorized to give the undertakings set out herein.

TO VALIDATE, GO TO Certificate Number: GI-COO-45305-661e763bdf84c **VERIFY.FTGS.US** Date: April 16, 2024

Port of Loading Transport Type Seller (Exporter) Vessel Los Angeles Healthy Green Life Corporation 43 Corporate Park **Destination Country Destination Port** Irvine China Xingang Tianjin CA USA **Export Date Exporting Carrier** N/A 2024-03-28 Consignee Inner Mongolia Shengdehetai Trading Co., LTD Import Permit Number Bill of Lading / AWB Station 3E-028, Beixing Lianchuang Center, 401410039432 Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 Owner or Agent Forwarding Agent China N/A N/A

Buyer (Importer)

Inner Mongolia Shengdehetai Trading Co., LTD Station 3E-028, Beixing Lianchuang Center, Hohhot Comprehensive Bonded Zone, Huimin District, Hohhot, Inner Mongolia 010110 China

Remarks Total: 1560 bales Total: 634.832 MT



Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Alfalfa Hay	21.156 mt	United States
Marks: TRHU5990517 52bales		
Alfalfa Hay	21.192 mt	United States
Marks: TLLU5372753 52bales		
end of products	====	
		XXXXXX
	X X X X X X X X X X X X X X X X X X X	



- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:
- The above-mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.

 -The information in this certificate and in any documents provided to the Greater Irvine Chamber ("GIC") is
- accurate, true and complete.
- -The Applicant undertakes to advise GIC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

 -In consideration for the GIC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GIC from any liability in connection with the issuance of this certificate and to indemnify GIC in respect of any costs and/or claims made against GIC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein

COMMERCIAL INVOICE

EVER FEAT

1338-019W

LOS ANGELES, CA

Evergreen

Invoice No.

SD-202403014

Date:

3/14/24

Vessel: Voyage No.:

Shipping Line:

Port of Loading:

Shipper/Exporter: Healthy Green Life Corp 1152 S Roughcut Dr Casa Grande, AZ 85194, USA

Consignee:

INNER MONGOLIA SHENGDEHETAI TRADING CO.,LTD

Station 3E-028,

Beixing Lianchuang Center,

Hohhot Comprehensive Bonded Zone,

Huimin District, Hohhot,

Inner Mongolia

SDHT-HGLC2024-1 Contract No.: **Booking No.:** 401410039432

USA Country of Origin:

Discharge: TianjinXingang, China

4/13/24 ETA:

ETD: 3/14/24 Price Terms: CIF

BEAU5011134 BMOU6012253		Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
BMOU6012253	A1518665	Alfalfa Supremi	52	21.818	\$435.00	\$9,490.83
	A1518608	Alfalfa Supremi	52	20.502	\$435.00	\$8,918.37
3SIU9404680	A1518603	Alfalfa Supremi	52	21.065	\$435.00	\$9,163.28
CAAU5065554	A1518711	Alfalfa Supremi	52	21.392	\$435.00	\$9,305.52
EISU9338895	A1518714	Alfalfa Supremi	52	20.884	\$435.00	\$9,084.54
EISU9457683	A1518605	Alfalfa Supremi	52	21.918	\$435.00	\$9,534.33
EITU1447419	A1518617	Alfalfa Supremi	52	21.156	\$435.00	\$9,202.86
EITU1544471	A1518664	Alfalfa Supremi	52	20.593	\$435.00	\$8,957.95
EITU9060920	A1518715	Alfalfa Supremi	52	21.627	\$435.00	\$9,407.74
EITU9351709	A1518659	Alfalfa Supremi	52	20.584	\$435.00	\$8,954.04
EMCU8341171	A1518651	Alfalfa Supremi	52	20.747	\$435.00	\$9,024.94
EMCU8411345	A1518607	Alfalfa Supremi	52	21.691	\$435.00	\$9,435.58
EMCU8711065	A1518601	Alfalfa Supremi	52	20.775	\$435.00	\$9,037.13
EMCU9909287	A1518666	Alfalfa Supremi	52	21.237	\$435.00	\$9,238.09
EMCU9940620	A1518654	Alfalfa Supremi	52	21.074	\$435.00	\$9,167.19
EMCU9942710	A1518670	Alfalfa Supremi	52	20.802	\$435.00	\$9,048.87
GAOU6411669	A1518619	Alfalfa Supremi	52	21.074	\$435.00	\$9,167.19
MAGU5399140	A1518662	Alfalfa Supremi	52	21.582	\$435.00	\$9,388.17
TCNU6781122	A1518562	Alfalfa Supremi	52	21.183	\$435.00	\$9,214.60
TEMU6100569	A1518657	Alfalfa Supremi	52	20.112	\$435.00	\$8,748.72
TEMU6173436	A1518609	Alfalfa Supremi	52	20.974	\$435.00	\$9,123.69
TGBU9972797	A1518615	Alfalfa Supremi	52	21.119	\$435.00	\$9,186.76
TGHU6970663	A1518610	Alfalfa Supremi	52	21.246	\$435.00	\$9,242.01
TLLU5372753	A1518567	Alfalfa Supremi	52	21.192	\$435.00	\$9,218.52
TRHU5230371	A1513240	Alfalfa Supremi	52	22.135	\$435.00	\$9,628.73
TRHU5990517	A1518564	Alfalfa Supremi	52	21.156	\$435.00	\$9,202.86
TRHU7965262	A1518611	Alfalfa Supremi	52	21.564	\$435.00	\$9,380.34
TRHU8729744	A1518620	Alfalfa Supremi	52	21.609	\$435.00	\$9,399.92
TXGU5693462	A1518719	Alfalfa Supremi	52	21.092	\$435.00	\$9,175.02
TXGU5827854	A1518667	Alfalfa Supremi	52	20.929	\$435.00	\$9,104.11
Total Value:	1		1,560	634.832	,	\$276,151.90
Deposit (\$150/MT):			,			\$95,224.80
Downpay Payment:						\$180,927.10
Remaining Balance:						\$.00

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12



By Healthy Green Life Corporation

AUTHORIZED SIGNATURE





